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Circle the appropriate answer.
HIEPIEMEE,

R ERE B,

o o =
F AL 1E2AL.

I. [ 5
@) 7 < En
MIISA = b, Dn)p R
c, ANV
R
a, H(En a, A Hwn
1.£@§A:lmUwﬁ%w\ 3. HEA=1b. N3 hi (o
C, AWV c, HAHWN
a, »{dEwn a, i HEWw
2. IAHEA=1b. VeI (tn 4., ) —=3A=1b. Tpidr(En
c, HAHEW C, ¥AHEW
1. LB
@) hi¢Hn
MiEA = 20ERY O b, D w9 H
| o C. A
RS
a, »{Egwn
L HPSA = WESE 0 (b, D Ip e
c., £L72H
a, »{En
2. V=S4 = HBEL 0 (b DpIEn
- c. LLrh

w5 5(2DD(

I



a, 2i<Ewn

3. IH3A = fpéi#?‘@j D 1b. D) HNn
c, £3y7°H
a, &;p9jwn(
40 WEEE = (b, FuEn D AN
a c. 2K
a, fpairj:?:’
5. AL = (b, 2rd ikl 0w
C.KﬁAﬁ%
. B
a, <z
HIlEA D 0) wALA = HTu&wn
o C. WA
s
a, <iz
L. HFEA @ (b, #ALAL = ZLLEAEN
‘ C, AW
a, <z
2. IHEA D {b. WADLA} = HirIHnl
cC, HAEW
a, <
3. W) —=23A D 1b. FALA; = 41X =2
C. HAEN
a, h<
4, bt O HALA = {b. &1 5wl
o c. &
a, %itiﬁ%
5. IAEAL D HABWV = b, btﬁ*ﬁ?
c. xubYE
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Mark each negative statement with X, as shown in the example.
RN, mElpoR, HHXER,
BRSNS B X,

FRES BE ek Bol xHE dA 2.

B i
B2 i
R
L HIRSA = HCRw
2. HISA = AR
3. FU—FA = DpIin{En
4, =) EL = IZIEALA
5. HHEA = DEEOH DD R
6. FI—SA = HMSLOLLIDL
7. EUbLME = PnEuowien
8. W) —3A4A = AXNVZ2DYp I {HEwn
9. qjkii%& = EULEFATVDL(HEW
10, =)3A = AXN 20N )W
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T=7RENT, ( JICU LD 2T IEEn,

Listen to the tape. Fill in the blanks with appropriate hiragana.
WrsERE, fE ) Hi BT R A

ISR, AR AT %,

HelZ& 23, ( )& depiva 2 e

1 1 %é&( 3 ) »<vwtd,

T %

9

RS

B2 BIEA (L) 2CEmes < (9 ) HRnTT,

RE
1. HHEA ( ) A RHWTT,
2 MH?A( ) LN TT,
3. IHEA ) ) Dy ) DK ENTT,
4. B A ) BEbEARN ( ) B HNTT
5. MEA ) HARTZOHC ) A RNTT,
6. ) =34 ( ) pEA o ) ELREBLTY,
ToIEA () HEEA () 2LELTY,
8. Yar&a ( ) <z ( ) A X ) ATY,
9. =34 ( ) <z ( ) A XY 2TT,
10, 3 A2&A ( ) HALA ( ) Er )W LTY,
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Circle the correct numbers.
LI,
R IE R,

& £48 2240

B} (G5 205 250
B2 25 2005 250

R
a 18 81 10
b. 18 81 10
c 56 65 50
d 6 5 56 6 0
e 65 605 65
f 69 96 6 0
g 96 906 91
96 906 91
1 48 408 41
] 48 408 41
k 408 418 400
1 101 110 11
m 101 110 11

5 5(ZD2D(

7
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Write the price of each item in the blank. ?’g O

iH5E H i,
S INEE,

VA S AA Q.

([ 25m ]

L]

100

©

Iéf

FUITE T ¥R
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TEEIUITZEZHLATLIEE N,
Fill in the blanks with the appropriate answers.
TIPS MY,

REBEENER,
HFe &g a2 9.

WO U %35

— e — - e
) x4 P OKE c

II
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TELIALELBATES G, BELZEKAELZ bATONTT,

Fill in the blanks with the letters of the appropriate picture. The same picture may be used more than
once.

AR 4 PR, (AR B PR T LA 4R % O,
HRIBEEOES, FEE TS SR,
AP 29 12N, 2L 1¥S ¥ W 2w Ay

A

| &?
L\
(L7~

10 11 12 13 14 15 16 17 18 19 20

I3






—BIE [~D1 [~Ad [~&] [~

TEEIUREZIBLATLIEE N,

Look at the picture. Fill in the blanks with the appropriate letters.
VA VB 04 B PR

HEEEENEE,

ARd 28-S 1242

sV
[on
¢}

&
g
&
(mE(wiiNeYeYe
GGG
GGG

)
2

© @
© @
L G

=

Wi | #i2 [ 1 [ 2 [ 3 [ 4 | 5
G | H
6 7 8 9 10 11 12

I5






) e o R BEATL SN,

In each blank, draw the appropriate arrow.
HEAETE S BRI < HiFEo,
AR — B,

()&l «

Bit] wm

Bi2] (b72L)

e

1. (b72L) (
2. H—
3. Wi (
4, (b72L) (
5. (
6. Wi\ (
7. 7Y (
8. (b72L) (
9. (brzL) (
10. Jetk (

U -2 F3A 9.

(&)

(—>)

) —

EL7Eh

H) —

Dl S =)

Dl SR A2

H ) —

EHThH

1) —

kS AN S

) —

11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

b7k

HA

) —

~

&
[

(b72L)
) —
(b72L)
(b7zL)
(b72L)
7

H)— T

(

) —
) —
Lk

(b721L)

17
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—B58 [7%Z2] [N\] T2 [TTI+3h5

T—7%EnTr5alrblbATLZEV, ZDOHETRLE2OHTIZI v,
Listen to the tape and select the appropriate answer, a or b. Then check your answers.

WroEsk G, HiEREa HiE b, REREEER,
BOCHETR, HRBaliE b, RAEBRARTIER,
Ho|ZZ E1 att bE TEAIL. 1 F HAFA Q.

BI1]@E) gL Bi2ja. »gLr

b, W&zl \n%i[,f:
s

1. a, 220 FL” 6. a, WxFL7x

b. WL~ b, »&F L7

2. a, NAErHLFELR 7. a, WxFL7

b, wxF L7 b. AF L7

3. a, 2N FElL 8., a, xFL 7

b, 3% L7~ b, tAZL”

4, a, BFL 9., a, WxzF L7

b, dbwnwFL 2 b, 2XF L7

5. a, »zhFL” 10, a, WxF 72

b, tA&AFLA , b, &#F L7

=» 5 HIZDD(

19



11.

12,

13.

20

L bwFE L 14,
. NAEroLFELAR

L& 2F L 15.
. PLFELA
L WEF L 16.
. EFL

. AFL
. 2»LFELR

LonFE L7

LN FELL

LNAEEOLELR
. BLzFELR
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Listen to the tape and circle either [\ § ] or [# ") £9]. Then listen again to check your
answers.

EEE R, WEE (WET - SN EP) . REMRTPWERBERERH CWEE,

IOEHRETL, WERE TuFEd b T, REEGKESTIRNEEBALTIER,

HolZ& E3, N3V ™hhid, & 124, 1 F geldr e,

O SN LSS
CE X VESD

]
1. (WEF-50F7) 6. (WET-HNET)
2. (WET-HNEY) 7. (WEY - HVET)
3. (WET-HNFY) 8. (WE¥ - -HNZFY)
4. (WFET - HHNFET) 9. (WFE¥F-HYFEY)
5. (WE¥d-HNFEY) 10, (WFEF-HDFT)

w5 5{(ZDD(

21



IT. %—7%%»%#6951,»%“) RZLATLIER W, ZDHET, 2L T
72 &,

Listen to the tape and circle either [\>% 3] or [# 0 £3]. Then listen again to check your
answers.

WRERERE, HEE (T - HNEP), REWEFTPUERERLEH TSR,

BOCHENA FEE T0ET b0 2T, RBERSTHRNEERERTIER,

HolZ& E1. T334 fhY3T,8 124 I F FAsir e,

S YESY)
(FTEYLESD

BE
1. (WE¥-HNFEY) 6. (WET-HDFET)
2. (WEFT-HNFY) | 7. (WET-HDFET)
3. (WET-HNEY) 8. (WE¥-HN V)
4, (WEFT-HNFET) 9. (WF¥-HNET)
5. (WET-»DFT) 10, (Wx§-HYFET)

22



NPOFIZBEDFHAVET

—EM)—

ReREPLT—7%Z20nT, ELWIDIZIZO, 2> TniLDIciEX %
A fadad
DWT L IZ& N,
Listen to the tape while looking at the picture. Mark the correct statements with (O, the incorrect
with X.

LA, EARERIO, BHRIRX,
T BMEERE, IFREUBI0, SEERMIBIX
2YE HEA HolIE EX, 82 Aot O, 5U AdE xES iAo

pril ¢ o )

4 ) B2 x )
e

1. ( )

2. ( )

3. ( )

4. ( )

5. ( )

A s ()

7. ( )

8. ( )

9. ( )

23






TADRDPWEADE(CHYET

—I&(2)—

RERGHLT—72E0T, ELWLNEZHLATIEE W,

Listen to the tape while looking at the picture. Fill in the blanks with the appropriate answers
—ABEEANRE, EEIEREE,
SR AE R RERE, RFLEENEE,

2Ye HUA HolZE En, 42 A n2AS.

=) ————————

d e f
% — &
BiycC )
R

» 35 522D (

25



I, ZEREHLT—7EEZNT, ELVLDEZLATLZE N,

JATAS

Listen to the tape while looking at the picture. Fill in the blanks with the appropriate answers.
—EE-AYT R, EERIEREE.
- AR SIS, BEBIEENER,

29e BRA HolZE £E3, §2 AL nEAe.

piyc D)

R

26



g (\f:&é\ < %\T%

—EEDFHFER—

ELVBRER AT IS,

What is the person doing? Fill in the blanks with the appropriate letters.
FIE Y ANIESE T4 20 R ERAOEBE, EES5HE 5,
TE OISR FERBEMNE =, b RINES R,

PAE 3 YFUA? $& 19 n2AL.

Bl
2
=)
e?@
(b ) (a )
BE
1. —
II.
1.
L ( ) 2. ( ) 3. ( ) 4. ( )







MrWnT(FEFaw

—8590 [T) () —

MEV>TnETH, a, b, CALPPLELVWLDEZLATIIZZ N,

What is the person saying ? Circle the appropriate answer: a, b or c.
TR AETE B A0 1EF a, b, o PEFIEHESR,
T KIEGREE #fa, b, o BRBIRIER,

Foolgtn a3 JAFUZ? a. b, ¢ FoAM §& AL T2A Q.

Pllya. »-< BPl2la. »L<C
b, »iF< (b) L=<
(<) »nt c. ¥
=
1. a, LT 6. a, -7 11, a, <
b. L-><T b. AT b, ¥°°C
c, Lo c. 7T C. ¥F-T
2. a, rx<T 7. a, o< 12. a, #ZL<
b, &&HT b. OwT b, TLT
c, 72XT C, DAT c., 12T
3. a, »2-TC 8. a, 5T 13. a, vw>T
b, 2T b, 5<C b, VWi
C. 2 AT c. E2nT C, W T
4. a, ¥9»-7T 9. a, <L 4. a, »>T
b, 2{ T b, »L< b. »n<T
C. 2 ->7T c., LT c, »»<T
5. a, BXT 10, a, BAT 15, a, 2bh-7T
b, 85T b. XAT b. ¥hHnT
c. BXT c, ko7 c. ¥ho<tT

29






—E:D [Tl (D) —

@iz Lo, ELvgr2 64T () LBFE8T LR,

iz A
What is the person doing? Select the correct picture and write the appropriate letter in the blank.
TEMEY ANEFEMAT 4 iERBEEROER, FRE5HRE ES0,
T A AR » GERIREREEE, I SIS YR,
AL o AFYUZ? 2 28 Feh () HEE 2A 2.

a f %l 1 (d )
> BIZ] (4 )
s ]

1. ( )

b a : 20 ()
e

Q5 3. ()

= 4. ( )

5. ( )

6. ( )

7. ( )

8. ( )

3I






BEVHY IEALLHIVIEA

—EHO [~H51—

T—=T7%E2VTHhbarbPzbA TSI 3w, ZOHETRLILDTLITE n,

Listen to the tape and circle the appropriate answer: a or b. Then listen again to check your answers.
TS SR fi, Ma, bHEZHERER, KEBRELE,

PEEHES, ita, bpd ?%IH’JEHJA’K SR A 5 I AR,

Hol L& 51 at bE 12AL. 11 F FAFA L.

Bl1)@) Aapvzei,

b. 7|< PuvFE L7z,

1A

Fl2la, Haco EAEENET,
.%é(é/\ﬁ%i‘f

1. a, 239Dk BNAEr 9 LFET, 6.a.$;«ﬁ%i%ATLto
b, HL7DLBENAX )L FT, b.&f“ﬁ%i%Ao
2. a, TAbLLFLA, 7. a, HhLHEFHATLL,
b, TAHLLTLIZI W, b, X225 TLITE v,
S.a.éiiﬁﬁﬁ%Oi%Ao 8. a, "RITA-HTLITE N,
b, B&»HN FL 72, b, 27 —% XA TLIZE W,

wria

4, a, ZWITEEL TL7E& 0,

33

b, ZWITEiL FHATL,

(=33

5. a, X1 kAaFHA,
b, 7 kAFT,

33






EZHLATLIEE N,

Select the correct picture and write the appropriate letter in the blank.

%N
¥
1 4 A A T R
e

%

T& &%

ra

-
Bo
- LA,

Aiplta|

R

2ok
gk 1







AAEBERCIH»L(AVTTR

85892 —

TEEIRBEZBLATIIZE Y,
Select the correct picture and write the appropriate letter in the blank.
A TE AR B PR i,
EEFEEENEE,
A 2YE pEAS,

ﬁu1 ( b ) a b C Yt

B2y ¢ | ) ORI

B e Ha f

©C 0 ~ O U s W N

[ — — — [o—— — —
[ N [ (o8 DO — ja)
. . . . . . .

R N N N N N

—
N

37






— D [~Tl— .

ELWK%%i LATLIZE n,

Select the correct picture and write the appropriate letter in the blank.

P IE A E,
PRI IERENEE,

£ O¥S nEAL.

Bll(K )+ (C)

. Y ) k e >
o D =.\‘».-\ ()
s.C )+ ) g’ @N__

S

10, ( )+ (

39






ANRTEEREDAF L /-

7"—7"%%1‘/"(#%\ ANDbPZLEATCREEZ N XDHETRLPHTLIZE N,

Listen to the tape and circle the appropriate answer: a or b. Then listen again to check your answers.
Wk Em, M a, b HEFIEWMEE, RERAETE,
BECHE R, B¢ a, b TURIRIERNEE, RERAELTIEMR, p

HolZE E131, a U bs 1EA L. 1 % 82354 <.

Bl la, wFv,

Bber2DAE L7172,

1. a, wET, 6. a, [Fvio TR,
b, NAEZrHLET, b. F-5TLFE
2. a, wFEd, 7. a, »NFT L,
b, NAZrHLZET, b, LT &w,
3. a, WTL IR, 8. a, LATLIEE
b, 72 XTLITE W, b, »WTL &,
4, a, WET, 9., a, mhF9,
b, ¥Fb%9, b, %7,
5. a, o FT, 10, a, N F7,
b, K% LA, b. 7Y FL7,

41






Tl T H

— I~

ELWLEZCEZLATLEE Y,
jarad
Fill in the blanks with the appropriate letters.

i S IE AR B L,
AR IR IE MR,

FC A4S 1E2A L.

I.
Bl 1 1 2 3 4 5 6 7 8 9 10

w55 (ZDT(

43



IT.

] |

Bl

10

B 1

44



108525 T

—RKA+HIPENETr2IZCS]—

nwnkHicl 3 LEANTCIES v

Using the symbols below, mark the appropriate times.
MR, 4T AIEREIRD g5,

AEFR Ry Bk, AN T AIREETIN bR,

o} ol 715 Agste] HPG AT EASA L.

1:00 1:00 1:00 1:00
I o
i T I =
%l 1 600 6:30 7:00 7:30
/]\
Bl 2 9:00 10:00 11:00 12:00
—
M3l 10:00 10:30 11:00 11:30
o
b e
a 1:00 2100 3:00 4:00
b 7:.30 800 8:30 9 100
c 11:00 12:00 1:00 200
d 400 5:00 600 7:00
e 400 5:00 600 7:.00

w5 5IZ2D(

45



5:10 5:40 6 10 40
8:00 8§ 30 9:°00 - 30
6 :50 7:00 7:10 20
11:45 1215 12:45 - 15
7:40 8:10 8§8:40 10




ELWT ) LEHFNTIZE Y,

Fill in the blanks with the appropriate dates.
i R E Y ECT
HE AR

e A8 2Ae

(B ]2 A 23H

s ]
a, H
b. H
c. H
d. H
e, A
f. H
g, H
h. H
i. A
J. A

47






HEOoERAEWLWTT

— [~EW] [~E<iaL\]-

I.Ltwtéofwifﬁ\Lt<&wt§ofwiT#o@@i5mO#x
DENTLIETE N,

If the person wants to do the action described, put O in the blank. If not, put X.
TEGBEABIT I EEG, SRR, BEIFER O, TR ERIX,

FPETE RO AR, AR AL OB, R AR BUBOERE B O, Y SRR B X,
shu Athm Fehw AUzt sha A4 ¥rhn Fekm AeUA? du A A O, st 4A

prs
We AE xEE AL

5 B
w2 |11 2 | 3| 415 |6 | 7181910

49



II. T&EEI)LIE2ZHATLIZE N,
z

Fill in the blanks with the appropriate letters.
1 18P TE A 1Y PR,
ERBEENEE,

A3 Y-S n8A L.

10

ERNEE

10

50




— [~hTT -

LONI[~ATT | %20 >TwFTh, Dh->Twizs, () icOrFENT
v A

BA%

23\,

If the woman says [~ A 73], put O in the blank.

AR AERT T~ATdy By FHTHNE FEFESHRO0,
HEHHLAGHE T~A T3, 05 7 FHANGESEITITER O,

AR e T~ AT, E AHEIL AFUZ? AFEER ATk ()% OEE Al

i) « O

pi2y « )

© 00 N O Ul ke W DN

— —
— jo]
. D

—
.BD

51






CIlBRALBRVWT (AW

— [~BULWWT<E&EWL]—-

I. ( ) CHEEAD [ w2 2FH W T3 n,
¥ L s e
Fill in the blanks with [7c\:] form of the verbs.
IHIEEE 5 Bl EAEn T E R,
A AR A E) G0 &,
( )& BAY T S 2AQ.

Bl (pRB780 )

7=

1. ( ) 6. ( )
2. ( ) 7. ( )
3. ( ) 8. ( )
4. ( ) 9. ( )
5. ( ) 10. ( )

=5 5HIZDD(

53



II. ELWiRZZHA T ZE N,
jAS A4 Z
Fill in the blanks with the appropriate letters.
VR I B9 B,
HREEEEE,

&2 188 12A L.

pi] (e )




ARUDTEVLTHVLWLWTTH

— [~THBLWN]—

an, b2 HLATCIEE N,

Circle the correct answer: a or b.

HM a Fl b AR IEMEE,
AAE a #1 b PRI IEFEN BE,

a.bF &AL 1222,

Bl (@ b))

10. ( a b )

55






ThoTbHbuunTTH

— [~THBNNTIH] [~BLNTEEL) -

e HETa, b, cohprb i LA TLIEE N,

Z H i
Look at the picture. Fill in the blanks with the appropriate letters.
EEEMa, b, c PEBEREE,.

FAEVE a. b, ¢ PIEIBFHMNEER,
OP& B3l a, b, ¢ FA 1249,

57






—IRRED [~TL\B |—

fERTa, b, COFRLILAT(RE N,

Listen to the tape and choose the appropriate answer: a, b or c.
HEEMa, b, ¢ MEFIEREE,

HABIE 2, b, c PREIEHENEER,

O¥E& B3 a, b, ¢ FolA nEAL.

(b )
wE
1 2 3. 4
O,
// O
( ) ( ) ( ) ( )

59






— [~TWB] TEFE~TLEL\]—

[~Tn2 | [~TuZn] BPAST0DEERO, AoTwhnE X3x4hE

W23,
If the speaker says either [~Tvx3] or [~ T\ 7% \2], put O in the blank. If not, put X.
A I~Twdy T~Tuden BIBHERIO, BABIRELX,
A T~Twd ) T~Tudew EFEEIO, BANISRE X,

(~CTwpy (=T, 7k 5o gle A4E O, 50 A @S A9 xES A2,
B (0O
(X )

LA

»
a4
LT
-
(
o
"

~
N
~
2
>
o
s

O Y A
( ) ir ( ) }5 ( )
3. % ( ) 9. B ( )
S ( ) I )
LA ) B
75( ( ) it ( )
5. Lﬁﬁ ( ) 11. fi ( )
ES ( ) ir ( )
6. % ( ) 2. % ( )

-~
>
~
ol
>
~

61






EAb-oTWETH

— [~TW&] [~TLEL\]—

[~TWd]| [~Twiwn] faf)go’cv>ét%\£i0\ Lofwmxt%cix%%
WL 7FR 0,

If the speaker says either [~T\»%] or [~ T\ ], put O in the blank. If not, put X.
B T~Twad, T~Tuwiwn, WRER O, BAERMER X,

7 T~Twd, T~Twvwn ) BRESO, BAMRHESX,

T~Twd, T~Twkwvy7t B0 Qe A9E O, 89 YA & A2 xx= BlAl Q..

Bils (O

BEZ

Z O
s

ALY A Y A
BAY ( ) BAK ( ) )f;' ( )

2. ;%_ ( ) 7. 93' ( ) 12 ;%, ( )
E FA EAT

3 353 ( ) 8. % ( ) 13 }9}"; ( )
}% ( ) 3:%;' ( ) BA% ( )

4 }%i ( ) 9' }o%: ( ) 14 )%: ( )
BAL ( ) }}5{ ( ) }z/ffx ( )

5 }%_ ( ) 10. }a%%: ( ) 15 BEZ ( )
EA EAT EAN






EEFVORERICVHLLPVELED

—EEE (1) R —

Stk S EENTEL TR T, FAAH - T D BHEEE L OBATT b T

HA A AR 17 AR 1% ey FAFG 9oL

ZHAT, EVTCIEE N,

A student and a teacher are talking, and the student is using the polite verb forms. Fill in the blanks
with the dictionary form of the verbs used by the students in the conversation. Choose from the verbs listed
below.

SR ARG, R FREOE R —ANE A o EATFER Rk, G

ORISR A E A BT, AR A SREEN BT R 2 IR DU TR R, SRR,

Az gho] olobrlatal AFUT Aol 21 e EACE oL FAUUA? oleellA Fa 24 o

(V2 AN {5 A 255 B H b 5]







RERTCLOoLeLETS

—EHEE () RRAFE—

%ﬁ‘%?‘;@/& & iib‘“ﬁ*ﬁic:’)mf‘?& LTwEd, &“@Eﬁ:ﬂ@%ﬁ%%ﬁo TWE

Cow Lo A HA 1 &9 FATG 2

T THZHLATENTIZE N,
L e

A student and a clerk at the school are talking about the teacher. The student is using the polite form.
Fill in the blanks with the dictionary form of the verbs used by the students in the conversation. Choose
from the verbs listed below.

P B AN EE AR EN, AVER T A FEE, EMTFE k%, SRiEShs,

S g AR AR TE A ek AT, P A BD AT OO » SEAE LU T i piseds, S HE R,

AHFA e Atgrst ggol Aol el A ololr|stm AFUT. ol FALY £AHo|E Algdtn AFU?

ofefell A Zat BAIQ.

(W3 AN ¢ 5 VAR NDip Vo &b 3 5]

B < %

1.
2.
3.
4,
5.

LA A B 3 LN N

AU 45 W g

Natdas o4 aen 6 )
7.







BRI’ NWATT
—{&KDEL—

EIWELBNTET L, IEL WD DEREA TS 0,
JAYAS Z b
Where does it hurt? Fill in the blanks with the appropriate letters.
T AT 2RI ANE e IERRIERR B R,
NI NS ANE I e AR N EEN E,
oltl7k obEUA? £& AL nEAe.

pr]ce )

R

frmmm g ——————

( ) . ) ( ) ( )
5. ( ) 6. ( ) ( ) ( )
( )






DTHERENTEET

— [~DTI~

2FFEHATCZS v, ZDOHET, IELWILE A, b, CHLBATZS Y,

v b X
Listen to the conversation. Circle the appropriate answer: a, b or c.
WET2iE, SREMa. b, c PRFBEREE,
FHEREE, SRR a, b, c PEBIEMYEE,

S8% En a, b, c e §€ BHE n=AQ.

71






E&IREE(HBEE>TVELS

— [~&83) [~2TESI-

V=S ARBMETAFE L2, T LBATLIZE N,
Kho o L 20
What did Sally say? Fill in the blanks with the appropriate letters.
BRI T T 2o EMNTRNERTRBEMmESR,
PORIEE T HLIEGE 7 GEIE T R AR
Atel e Hekn TRFYZ? oldfell M mEAle.

Bil i )

R

~

( ) 2. ( ) 3. ( ) 4. ( )
( ) 6. ( ) 7. ( ) 8. ( )
( ) 10. ( )

73






MIVFW LTHIrERITAER

—2ESE(1) [L\] EBEE (B8] KER

[. &2l adsT -7 %M T ( ) RIPEREFATIEE Y,

Listen to the tape while looking at the picture. Fill in the blanks with the appropriate adjectives.
AR AR, iR B R,

iR REREESET, IR AR,

8-S ReA HOlXZE Ex ()& FEAE 2A L.

(2 vy ) %

Y
A
=) AN
5. (
2. ( ) A 6. ( ) &b
s
: a'mém =
, TFRRRTEEAR R
3. ( ) R 7. ( ) 2\

75



II. ( )K[W\h@rﬁjﬁ‘ﬁoJ%%?”f(?f?bnk“gﬁbﬂigﬁ\X%}\
NTL7T&n,

Fill in the blanks with [\»], [7%] or [], as appropriate. If [\»], [7] or [#] are unnecessary,
write X in the blank.
CEATERS R E T, Ty 30 T, ANEBEHAH TR X,
CEATNHREIREE A Ty, Ty, T, AEEMHMTHEAX,
C)Fe vy g Ty T, B 2A2 F8 flE ASE XEE S L.

[(BL]=sL (v ) 72k

s

1. FAE ( ) Z&Y 6. +F ( ) i

2. WIHHK ( N& 7. k& ) —F—
3. AEN ( ) Ny T 8. Eh\ ( ) fE

4. BwL ( ) a—k— 9. 92w ( ) A

5. L¥h ( ) s 10, BbLA ( ) 2t



I.

TXVADEIVARLYEVTT

a#b?f)‘ /\,’C<7 S\,

Select the appropriate answer: a or b.
B a H b,
AR e g b,

— 8D —

atdt bd 1249,

(B @) 704 b, HAE) 2135 p950 T

R

10.

(a.

TALR b, Z7i—) DI »iEnod,

E9%r9 b, EiroHk) olId I ERh T,

9 EA b, ZiE) DI HBVLWTT,

. P& b, B3 IJ) DEIINKRECTT,

. HD b, HB) DT BT T,

E9&L9 b %)) DIFHIHEILTTE,
B Fr b E5&19) DI BRSLHEATT,

UTALx b, i) DT 5 DAY TF,

s

H b, RiH) D3 AV FETY,

W Huvlw

ZL b, H) DIIHIHSBYLWTT,

77



II.

78

ELW%WKuO\i%ﬁofwé%@mﬂx%%wf<ﬁéwo

e
If the statement is correct, write () in the blank. If the statement is false, write X.
EMEIRIO, #RBRIX,
IEFENFEEIO, SRnEssl X,
%< Addle O, d Aoles XEE 149

(X )
( )
( )
( )
( )
( )
( )

7 ) @T B — ) —
(212 vy) (218 vy) (18 \vy) (283 W)




—BHBQ)RAUK [H~2B3] |’35‘~<7EE—SL\J—

LN ST BBEADFEL £ # T 28 0,

BAL U L oLt
Fill in the blank with the dictionary form of the verb used by the woman.
TS B v B 2 A BT B s a9 IR
A A SRR A S 4 v (019 70 A BT B O Eh R B9 I 2,

A7} AFEStT e FAbe dBS 2al Q.

gi1] ¢ o0 9 ) B2y (- 29 )
7=

1. ( )
2. ( )
3. ( )
4. ( )
5. ( )
6. ( )
7. ( )
8. ( )
9. ( )
10. ( )

79






ZORE I FaAL—-PTT

[E~D~]

HELDZ & ti‘%ﬁ’(“{mﬂ{,“@( 2& 0,

AE [ AR
Match the words on the left with the appropriate word on the right.
TR AT M0 0 1) 2R R Sk,
AR A AT 3 1 P G AR,
QEZI 9% QUL Moz ABATA S

1l e

x4y M2

=

XXX T4

1.
2. & Faar—|F7©
Z O YU SIS 3
, ﬂf@.qv 3. N cBEANWE
) ,
Qo= ——— = 4.

T—7)L - s =P

13. 74> - < AL
K BADD

5. H s BbnEn
6. & . -3 N
% bl
7. A . - AL
- BBaEw
8., &Ko - e BEGE/a
9. N&H#H cNRANTZ
ci vE (%%
10. & %
TA L=< p2511
=T
11, K~ v b - - HFEN LT
12. =T . - Rw
s kS

81






M N2 o APTHELFT

— [~EB -

ahbrA TS0,

Circle the appropriate answer: a or b.

B a HE b,
A E b,

alt b LEA L.

1.

10.

(

(

a

b )
b )
b )
b )
b )
b )
b )
b )
b )
b )







CFHALVEBRBVWET

— [~&EBS -

TTE2APERES T, abpBEALTI ISV,

Listen to Suzuki-san. What does he think? Circle the appropriate answer: a or b.
WAREERZTHOIER, EMafll b Pk RIFMEZE,

AR RGN B b, AT o A b LRI TR AR,
zz7140] 94 S UL atk bE DEA L.

Bl

Ty Lw
@ LEwET,
b. LT LW 5
b
a, k5 a. HnTnzEd
1. ¢ mwié‘ 6. ERWFET,
b. %ij‘ b. H\T\w3 5L
Vi . K&
2 t‘%}\\/\ iT *3 2: iEL‘EAI\l" i‘é—o
b. vz B . ARAZ B
a, »wipw I en
3. mwiﬁ‘ 'mwiﬁ
b. Wipwe L enwE
a, IFAx .2 b
4. _ mwii‘ HuxiT
b, (FAE .o
a, FEELTOFEA AN 7))
5. 1o 2A Eﬂb\i'ﬁ“ k;%ﬂxb‘iﬁ‘a
b, #EHELTwhn B XL DT fib

1 A






"BEHYITL

BERT, a, b, COHPLEATLZE N,

] A o i

In the following pictures, circle the appropriate location: a, b, or c.
FEMa, b, c PEFEBLEE,
A a, b, o PRI EE,

¥ B3 a b cFollA EAL,

Bl

¢ L b
= == E
it SRS
> | | be 7 | b
cs [ 4
o o
4 | 79
! CoiParki | | 8. |
"B [ —







(IR o733 VT T &

— [~ERESHNN] T~BLNESH L ]—

BDONIZEALT FXA 2% LE Lich, @44 f%A’C‘(f:*?‘b‘o

BAL UV TE L9 1319

What is the woman’s advice ? Circle the appropriate answer.
TR ZT N HE T MRS B 1 i RS AU E R,

f’f BRI TN T AT & RN B,

Azt oW ojtulo] 22 FHY? Aye AL 1

3V%e
B -
Lr¢<‘§§!v Lll..;\
Wb 7 .

~ U

b ]
L a ] FoBt 2
7% KFHT
L&)Qb\ 2w %f)y)l/\t&l/‘
T " WF
(b4 ,’ﬁ-/yt;\,\ éy){fh
> s 8. B3
EE"I’?AC: * E¢
[ 70 n» =% BExZew
t S by bAT S
Dh b 4% t)y)) 3 %)A[,ﬁ‘b‘

5. HiT 5
FE%
HiF

10. FCT 3
(ESavde

I Lan






B&Thbobd—b—%BRAZ L

— [~THhBe] [~EHLET] [~BFZI2]

%~7%@WT\M%%( ) IHNTLZE N,

LwA XA #
Listen to the tape. Fill in the blanks with 1 or 2 to show which action occurs first, and which second.
EUTEE, TERES B FIWE SR,

L LS R SN

HolZ& 3, €48 ()& 242,

Bi1 B 2

——/ ()
4‘@ <

552D DK(

o1



02



ffaLTWwWE §Hh

—ETD [~TLSB]—

A~HOEDNTE %, BATLIZE 0,
v 20
Fill in the blanks with the appropriate letters.
A ~ H g £ IE R0 A 5 EAHR 89 7R,
aft TR I REY NG HE A S R,

A~HT dule Al S mEx 9.

Iy — s ,
»
|
e o N
> é 3
Y I8 24
oy J\' E
> > \ N \
W A2 ‘s ”\
P aaad ‘3.'::"
{ "
)\

my)g'/\ &
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TTEIAN(NFLE

—R28:(2) [HIFB] [B53] [<Nn3)
[ELBHIFB] TVWEEL] [<E&d)-

) =S AL HHSADEFETT, ( )Kkﬁﬂ%?mf<fﬁwo

XE 1 o b
The following are several dialogues between sally-san and Yamada-san. In each blanks, draw the
appropriate arrows.
WERES BERlgE—,
TEIE IR H < BE —,
()& -8 F3M 2.

(BL]+)— (¢—) §7&

o ]
1. %) — ( ) R—A4 7L > F

¥
94+

w

~H

&
I

<+
[

4. ) — ( ) §¥&

5. W ( ) AR S

FE & LhLEAEN

6. HI— ( ) AFHSELE

& UbLHAEY

7. U — | ) AR SA

E UHLEARN

8. #U— () WM

0. WE () Fy— " U\
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() marbrBnTl R,

Fill in the blanks with the appropriate answers: a or b.
WWIERE S A a 5iE b,

EAEIHIE A 2 & b,

( )&l aut bE 2 2.
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EREBT T X&EHBYET

—EBN5a+Ehza —

3} b zL

7“*_7(’%%1‘«\{# HabhBATLIZEV, ZDRTHE»H T2,

Listen to the tape and select the appropriate answer: a or b. Then check your answers.

WS REIT, NEEE A BB b, BT AR IR,
BB R0 A b, MEREREER, 7 e o ;

HolZE =3 a} bE mEAS. 1 F EHelGAl L. i L P

B B EY,

b. oY F3,

B2] a. B ET,

a)f)iffo

e
1. a. o) FL 72, 7. a, HNFET,
b. ﬁﬁ\itf:o b. b7z TL &,
2. a, Uzl 8. a, HHF9,
b, o FL 7, b. b2 TLIT&E n,
3. a, w9, 9. a.gkﬂfil,to
b.%wiﬁo b.&@itto
4. a, %\\ﬂi L7z 10, a, LT Z& v,
b, RFlL 72, b. W TLL &N,

5. a, £971FALFL7 11, a, LT3\,

b. ﬁ%ilﬁ:o b. W TL &,
6. a, 7=ALFL7 12, a, kaFli,
b, 55&%FL 7, b. 0 F L7,

5 5IZDD(
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13.

14.

15.

I00

a, iolbzxlz,

LobWnwE L7z,

SNz ) L7
EnwiclLxlz,

SxFlLzd,

LdLELL,

16.

17.

18.

S FL7

L FEL,

LEl TN FELR,

JAT/N

) f%;( LFlL7

.%ﬁ<&0itto
A LELR
¥<



A SAD AR

~THED] [~TWEE<L] BE—

LT ﬁ;of:U/&c:O%OHf A=A

Put O in the blank to show the recipient(or beneficiary) of the action.
EIEEZ AN ARIRIO.

Bl Oz 8 MR A,

3 e AlFA OFE dA 2.

Bty « ) PrsL = (O ) bl
Biz] (O ) mmzs - o ) ) —2A
BB
1. ( ) TUEA — ) HBE A
2. ( ) TU&EA — ) Hip A
3. ( ) Getk - ) bzl
4. ( ) Jetk — ) bzl
5. ( ) HIpS A — ) b7zl
6. ( ) HHEA = ) Y —FA
7. ( ) Wb ok — ) HiHEA
8. ( ) whor — ) HPE A
9. ( ) B - ) bzl
10, ( ) & — ) bzl
11. ( ) etk - ) bzl
12, ( ) otk — ) bzl -5 5227

IO0I



13.

14.

15.

16.

I02

WA

) HpEA

A

) HfiE A

JAN S

) EHEH

) b2 L

) 277 h

) ELEL

) bzl



B —3AREFHI1005DH T T

—ggERZ—

BRAA R HEE D & IO BNTLEE v,

&9 L D) Fn
Listen to the tape. If the verb is in the potential form, put O in the blank.
BB AR AT REZ A L 5 %1 O,
FERREA, BN REIEIE E O,
EAZE 7e A A= ORE Al L.

g1 « O
pu2y « )

rE

© 0 N S O s W NN

e e T e S S Gt
L

j—
.U'I
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Eo-T( hFHEAD

= [~TBNNDS [~T<NBH] BE—

BONFLES e WDOADLETH, TE2HZOEENTL SN,
bBEZ v BAL v 119 n
Who performs the action, the man or the woman? Put O in the blank to indicate the actor.
B AL R T A %0 FRHxK,
£ B HIHR R e 55 O &S,
FAZE U 27t U7 $4E Bete Zol OXES A2,
% ES

BAL

B ( O ) )
v ES

BEZ BAG

O 00 3 O U W N

e s T e S S G
Ll

(
(
(
(
(
(
(
(
(
(
(
(
(
(
(

D N N N N N N

—
.U"I
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BNXTAT (3w

— [~THBI—

[~TA %] OHIOFFAZ a, b, COPLLBATLIZE N,
i &5 L T 25

Listen to the tape. Circle the verb used with [ ~T&4%]:a, b orec.

WETEa, b, c Pk T~TaA L, BIHEAIENE,

#fEa, b, cHRE T~ TASL, AIHAENH,

T~Tk5, g2 BALZ a, b, ¢ 24 TEAS,

Bl Ja. x-<C
(b) 2T} 232
c, 25T
R
1. a, 2n<T 5. a, H-T
b, 5T A5 b, wo<T A5
c, 2T c, \»T
2. a, §o5C 6. a, L5XT
b, LT s b, < 5T A5
c, Lot c., Loenwt
3. a, DAT 7. a, 5T
b. AT A5 b, 5T A5
cC, DT C, EnwT
4, a, BWTC 8. a, ¥b-7T
b, T A B b. 2{(-5T A b
c. HIFT C. O T
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\j\< l,Pﬁ‘i é?LoT:*Sé?éijy

[~T&3) [~T

}:S@&@ F~“CI>%>J %:{%b\i Lizdr, [~TH<] %_’4%m§f L 725,

Does the woman say [~T& 2] or [~7T#<{] ? Circle the appropriate answers.

BTN T (~Ch B, B T~ T
SEHROLAMET T~ Thd, BR T~ TH o HEERDEE,
AAE T~ Ths, B AHEREUZL, T~ TH <, & ASAGUANY

Bl (~<hs - (ZTHI)

R
1. (~THhsd -+ ~TBKL)

2. (~THhs - ~THL)
3. (~Ths - ~THL)
4, (~Thsd - ~TEX)
5. (~Thd - ~THK)
6. (~THzd - ~THBL)
7. (~THB - ~THL)
8. (~THhb -+ ~THBK)

9. (~THhsb - ~TpL)

10. (~THsb - ~TBL)
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MREBZRTEF L /-

— [~TL<B] [~TL< -

I. [~T< 5] kgo’cb‘i'ﬁ—ﬁ\ [~Tw<{ | téofwifﬁro ELE 50020
%%w1<ﬁ§wo

Put O in the blank to indicate whether the speaker says [ ~<C< 3] or [~Tw ¢ ]

B T~T by &R T~Tn <y EROER,
B T~T< 2, @R T~Tw{,r #HOFER,
T~ B, T~Tw < o OEE 349,

R

Bl 2| 1 2 3 4 5 6 7 8 9 10

<5 10
Tl O

II. ZOADFE>TREFEL. a2, b, COXDFRTT 2, EATLZE W,

BA% )
Listen to the tape. Which picture, a, b or c, fits the woman’s description?
P ARTRANE R A8, 57 a, c Rk,

AR BNE R G, Wi a o bR,
Az7b Zata e AE a~cd o= ouguzt?

Bl Q)
s e
a 1. ( )
2. ( )
%; 3. ( )
4. ( )
b
5. ( )
6. ( )
7. ( )
C
8. ( )
9. ( )
10. ( )






FhbhEFELED

— [Ensl rennsl rensl 8&—

LONSEELEMHCE LIr, anbhBA T LS,

BAL v
Which expression does the woman use: a or b? Circle the appropriate answer.
B RO AVRE R T AN B 2 BE b rRIESE,
FRE Ay N T URAEG ? ST a, b hIEEE,
Axe a% bF o= HE Wkn AFUN? & HE n2A L.
11 72 hs
b, 7Zf
Bi2)a. r=nw

(b) zhw

BE
1. a, 7z 7. a, ich 13, a, 7Zgiza’
b. 7Zn» b. Ziz» b. Zeich,
2. a, Zmnh 8. a, ¥Z» 14, a, nd’
b. 7ZiH» b. ¥z~ b, &y
3. a, n» 9. a, Yon 15, a, &’
b, i % b. ¥z b: &y
4., a, 7 10, a, F->H%
b. 71 b, &>t
5. a. rZna 1. a. Xobpy
b. 7“n» b. ¥-bHb#
6. a, gizH 12. a, 7glcas
b. ZizH» b. Zeizh»

I13






ReFTdbIERBRIAL

— [~(K)SEBRS -

BONBMELL) EBoTETH () REENFEELHFCTL

7

~ s
S

Vg,

What is the man planning to do? Write the dictionary form of the verb in the blank.
W ey B AR 20 ETERE 5 B ASA R,

ST B A AR SRRy 3 TR A RO R A INE,

GAE 2R 2 FUA? ( )&ol FA) UYL A9

pl] (L2 & )
]

1. ( )
2. ( )
3. ( )
4. ( )
5. ( )
6. ( )
7. ( )
8. ( )
9. ( )
10. ( )
11, ( )
12. ( )

I15






f:(é/\,ﬁ’\%c‘: o TWELE

—onEE [~(K)D] -

e Ty, [~(L) 9] iféf“j—ﬁ‘o O%L_’ﬁ%'\ﬂ/(<f:§ Vg

RTINS
Put O in the appropriate column to show whether the imperative or [~ (k) 5 ] form is used.

B oot T~ (k)9 e R0 Fox,

R izgat T~ (k) B EE O &S,

BRIALUZA? T~(2) 70 & dU71? ORE st &,

5

DD ™ }f/
H it e

Bl %1 Q
11 2 Q

10

II7






WHSARERIANE K EGAE LT

—2EISE(3)

WHIS AR L E L7ed, adrbp#A TSN,

7
What did Yamada-san do ? Circle the appropriate answer: a or b.
ISR AEBCT A 20 BN a 1E b ikf,
(LT SRy FHTE a FO b HURIE,
ottt S FAE AFUA? avt bE n2A Q.

Bl Ja, KEEH\wF 7.

l2A e

KEHs L,

RS
L. a, r—Xzf~xLr, 8. a. AMcgviLr,
b, 7—X&fE) L7 b. HFEEH2F LI
2. a. VR—FE#HAZLE, 9. a. LLizhLlELr,
b. LR—bEEEFLL, b. bLrzxLELA,
3. a. LxlAkenElr, 10. a. JHAKANELL,
b. LelAizRELr, b. HEMTELL,

4. a, T 2HAFL 72,
b, T4 &H-T&£ L1,

5. a, 7—7%%<LFElL7,
b, 7=7%{nFx L7,

6. a. LTALZZBLEL.,
b, LTALxICON FL 7,

7. A, (OFHGELL,
b, Fre— b T2 L
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EEEM(OPFETT

[~D] ~2& -

ROLIZR [O) 2 [Z 8] DN $ 540, BATCLEEV, Ehbbhnr &g

Hx

[X ] 721__;/\/"C“< 7Z& v,

In the following sentences, does the speaker say [¢)] or [Z & ] ? If so, circle the appropriate one.
If not, circle X.
IS T f G T T, i T2 v EARNERIX
fe T i - l’lPu_nf&UﬂT Pon, Wi T2 &7 i, #% ﬁﬁ’]ﬂ%f&‘au“’l
o5 F3 "o, &l Qdobd 3B, or £r glE AL= FXJE JBALL,

Bil] (@ - z:

S
(v
e
@x

1. ( » = X )
2. ( » = X )
3. (& Z X )
4. (o = X )
5. (& z X )
6. ( D z X )
7. (D Nl X )
8. (& = X )
9. ( o =z X )
10. ( o z X )
1. ( o z X )
12. ( D z X )
13. (& Z X )
4. (o z¢ X )
5. (& Z X )
6. (o Zk X )
17. (& Zk X )
18. ( o z X )

I21






EEEES>TIELVATTS

— [~EW] [~TIFLWL]—

BOANDLETH, KOAHLE T, T2HOEPWT IS0,
BEZ wvE BAY v 28]
Who performs the action, man or woman? Put O in the blank to indicate the actor.
2B IIHOR R R RO T ok,
& BIIHER R Lcnfie 48 0 &A%,
GAZE FUA? 27 GUA? BHE s Bo] ORE FHAl Q.

Bl % (O ) B2s ()

BEZ BEZ

b‘%ﬁr ( ) ;),:S; ( O )
]
1. 5 ( ) 7. % ( )
zit ( ) & )
2 19}_ ( ) 8 }%’L ( )
EC) EC)
3 ,9&%_ ( ) 9. }% ( )
Z ) )
4.5 ( ) 10. 5 ( )
O ) zC )
5. % ( ) 1L % ( )
5? ( ) )3‘; ( )
6. :%; ( ) 12 :%: ( )
x 0 ) z 0 )

123






SV ELNI-ATY

—28101)—

RDODFEIZZHIED D 5 L 2IFO2HFNTLZE v,

& »e b I A& e »

Is the passive form used in the conversation? If so, put (O in the blank.
TN A TG A A T R EN T RSB S RI O,

PUF e G S0 T e @i 7 sneny i 1581 0,

o st £EF ol AHEHR e B¢ OXE 1.

1 7. L
2 8.

3. 9

4 10.

6) 11.

6 12,

125






XEICLIAOGRIEA

—25#(2)—

5B D ADHE> T 2 BFOFER 2 80 TS 0,

BEZ L Lyiide 8
Write in the blanks the dictionary form of each verb used in the conversations.
S T Y 55 A BT A ah A By IR,
M SRE P B AR R RN E

G2k ALl ol EARY) UEE Al

Bl LA

1 7.
2 8
3. 9
4 10.
5 11.
6 12.
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) —3ARTECHENILE

—%2810)—

ﬁnﬁLiLt#o%mAmO%%wf<ﬁéwo

Indicate who performed each action with (O next to the appropriate name.
RO Tl T X

FERCT, ASEIBELANS T,

F7F YU 2 AMbelA ORE Al 2.

B1JO) +u— ( ) ok B2y ) vru— (QO) 4k

AN WA B

B
O ) = () ek 1L ) Hu— ()T
2. C ) wy— () FFE 12 ) Hi— () 7Y
3.0 )= () Frby 1B () HI— () FFE

4. )#H)— ( ) F7¥x 4, () HY— () FF=&
5. () Hy— () ¥7¥%& . ) ¥Y— () T3
6. () HV— ( ) ¥T¥&

7.0 ) y— ()T

8. () ¥u— ()

9. () = () l/

10. ( ) ) — | ) T

129






HPE65LEFTH

—sikeRa (1) RRRAZ—

Stk L FENSFELHC T, COBMRADEBTE M- T oh, T biBA TH

A B ARG A FAAN L H/\,Lx): el s

WT7EE N,

Listen to the conversation between the student and the teacher. The student is using the humble forms
of the verbs. Fill in the blanks with the dictionary form of the verbs used by the student. Choose from the
verbs listed below.

U I ALZE A A G, fER T RN R B B ERE, AT YINEIL kR, SEFES S,

RS GG, B T WE E A Oy RERRE, AATELUT RS TR, SRR,

A7 Ao B3t £, ol FANY AYlE 23 e, ol e 2 Q.

(W3 Wl (3B 72N3 oty w9y AL bHH &L T5]

Bl Ly 9

E X1 A e-iL

I31I






—HREF(DRAE [H5~L I 1—

LS 0)]\75*‘{%0 TV B EFRADEFE 2 FE W T 728 n,

BAW v r9 L oLty »
Write in the blanks the dictionary form of the verbs used by the woman.
IS AR 02 A BT D Al e TR,
A 5 M B TR B A AT B 0 TR
A7k g Sl SR gE sAle

By (P> ) B2y (£ > )

10.

133






Kesh»rYLFL -

— BB REE —

J\V) EARSGED L E L, DL F L2k, t%%?b* A“C(JL“EW\

A /ARG
Did the student or the teacher perform the action? Circle the appropriate answer.
T (1 i T T B i T .
LTS 0 opo S R 35 B M0 G SR RN B,
e & Aol AFUzt, Aol BHUA? o= ZAstE nEA L.

BT ek (i) - .

R
1. (e - 524 ) 1. ( Sk - 224 )

A AR HA W ARGE AN

2.(%$~$%) 12, (oA - 2 )

A A H< HA A B

3. (o -4 ) 13, ( Stk - 22k )

HA A HIC WA W A A

4o (S ) 14, (k- 2k )

gAY

5. ( Stk - 224 ) 15, ( Jodk - 54 )

AR A WA ED A A

6. (Jodk-5E)

HA A HEC A

7. (e - )

A A FARGE A

8. ( etk - ¥k )

HA A A Ay

9. ( Jodk -4 )

A A HEC

10, ( ek - 24 )

HA AL A AR

I35






— [~HESH] [~D1—

[~2E) 2] EF-TnE§h, [~h] EFoTwETH, BATLLE Y,

In the following sentences, does the speaker say [~#2& 9 %] or [~#] ? Circle the appropriate
answer.
TXHHERT T~ &) SREMT T~ HFRFIERESRE,
FXHAT T~ &5 BEMMT T~2 0 FHRBIEMNEER,

"~ E5peA, T~ A E 2EAL,

B Ehes5n) - ~») BI2) (~wr5n» - D

B
1. (=»&5 - ~»)

2. (=22&95d - ~)
3. (= ¥5h - ~)
4, (~>E5Hh - ~)
5. (=2 ¥5Hh - ~w)
6. (~E5h - ~»)
7. (=¥ 5h - =)
8. (=¥ 9h - ~)

9. (~&9H» - ~»)

10, (~»&2» - ~)

137






ZEAL»HY FHA

%%%%Wf<ﬁ§wo%@%&T‘%LwiKO\§5%KX%%WT<E§

e b & AA Lot

2

Listen to the conversation. Then, for the following sentences, draw O if the sentence is cerrect, then X
if incorrect.
TS, RIETEEMBR RO, FERAHITRX,
megmer it SRIZIEFERVEIO, FEERME X,
338 1 §& ZFod= O, 8 FAde XIE AL,

(Bl]a. (O)
b. (X))
c. (X)
(&S]

1. a, () 5. a, () 9. a, ()
b, () b, () b, ()
c. () c. () c. ()

2. a, () 6. a. () 10. a. ()
b, () b, () b, ()
c. () c. () c. ()

3 () 7.a, ()

b, () b. ()
c. () c. ()
4. a, () 8. a, ()
b. () b, ()
c. () c. ()
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T €5 TY

—EEEEGRD [~25 —

z1l |

;}gm [~%9 T ai/}f» ﬁ;%‘ﬁwt ZETT %ﬁmfljgﬁﬁfﬁm EH 502020
RENTEE N,

What is the meaning of the verb [~ % 5 9 | in each of the following sentences? Listen to the tape
and put O in the appropriate column.

LITFHY T~ %9 ¥, BRTMIAIEITEIR SRS, L0 Oyl EX 0 &R,

WUIFI T~ 7 5 T4 ) BRI ARSI /22 11000518 585 0 &5,

el T~% 5T £ 02 AgeAM e AUz A2 BHEYYA? o 2elx) ORE A L.

= = BE )

I hear... % (8] It looks like... #£2s
A -~k FUch | e ~ QA ZEUT

7 1 O
1 2 O

LN

10
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BRI IEBHIrSTT &

— [~TI&] [~TL&KDI-

[~TF &) EFoTwETH [~TLE I ] EE->ThETh, O TN
7EE N,

Listen to the tape. Does the speaker say [~ T3 L] or [~TL t 9]? Put O in the appropriate
column.

WUTEE, & T~T3 Ly B T~TL e MOFEK

anEEEET, B T~T7 4L, BE T~TLrour MOENR,

C~T9Td 4 "L Iio) OB 412

~TT & ~TL Y
il #i O

% 2 O

10

11

12

13

14
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EEEFbHIIEONFLS-

—ENEZe—

kmkﬁﬁofwéﬁjiﬁﬁmﬁ%fT# M%me%f¢# O%%w1<

BAY ez &9 L FAlTu [N 1t A

773\,

Put O in the appropriate column to indicate, for each of the woman’s statements, whether the verb form
she uses express politeness or is simply a grammatical passive.
B TR A1 A BT SRR SHE R RN TS 1RO &R,
FRE R e AR B T SGER R BT T S FEE O &,
A7 AREsla e BAbe £749 Avigdyzl, £ ouisiuzt. o= £dx] OZES 342,

B4%  Honorific 2B Passive

EIAA I &

5 %l 1 Q
% 2 C)

e 1

10
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HOVAPF/ANTHREIEH HY) FTH

— [~E2EHDB]—

WAz F TS, ELT LRI EDh oD a AT S,

Y5 L
First, write the appropriate verb in the blank. Then circle [& %] or [Z\>], as appropriate.
S A, REHEEERTTETR,

P AR, KRS BN ER &EWT@E«xﬁudﬁ‘i BEBIEHMNEE,
TALE 2412 a2 8 ¥ Ao dest fEste nEAe.

Bl - ., ED

2 ~ k—kﬁ‘
s
i
»H5
1. Z &N ,
A 3
»H5
2. Z &N
Zw
H 5
3. ZED
T
H b
4, Z N
o
»H 5
0. NP7
2\
»H b
6. Nl oMl
e
HbH
7 Z &b
AR
»H5
8. Z kD
7
H 5
9. ZEH
T
H5
10. ZEN
7w

147






ARICEKRBIEEESHEATT

— [~E& -

EZTLELLD, adbBEATIIZE W,
Where did the action take place? Circle the appropriate answer: a or b.
T A A REAEE LT EM a B0 b Rk,
BTERTEMEETRY » GE O %ok,
AU FEUA? avt bE A0

fAl a, HAT }

12134

LsA DT

HBwF L7z,

»

]
1. a, HART
12 1A Eb‘i Lff.o
b. LxADET ”
iz

Tt

2. a, NZDOHT
b. 25T
&

%wiﬁo

i

3. a, ~ROhT)
WLEL7,
b, ~®oskT| ¢

HAELET

TA B

4. a8, £H5T }
b, 4w% T

Wy A E <

b. c‘:t)l’b:)“(“

2nF L7,

&

&a.%ﬁﬁf}

6. a. AX>a7T
KA F L7z,
b. HAT ”
7. a, HET
a4 ENF L7
b. UIADET

kAN

b. BLADHNT

BELFLL,

§. a. B&RHOHPT
A L) w5 5(Z2D(
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©
a8

CHLvT “
. - HFE L7,
b. FeGATORET

10, a. o kT
*F 2 L nF L7,
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L (FmHEDLHIY FT

—FHD [~ -

T—7EMNTh L ah brBA T, EDBRTHPDH T IZI N,

bE L

Listen to the tape and circle the appropriate answer: a or b. Then listen again to check your answers.
HTRE, ®FaE b, REREEE

WEESRE, RIF a B b, RRELTILE,
Eﬂolzi_—z— E3, av} bE nEAL. 1 F QAN L.

m‘ @) b»n 7,

b)) F L7,

]
1. a, if’F”ﬂ Awi‘é‘i 6.
b. %7?3 Aw‘il,to

37256 CATYED ..
3726 nTLE3 0wy,

[

o

2. a, ﬁ%m%ﬁ<o%0T¢o 7.a.wwk%miT#o
b. f\%&m_wio“cz;i L7, b. f&)f’t,E&win)o
3. a, 53\#6;50:&‘0 F9 L, 8. a, bh»r s,
b. bbhr b\,

b. /5;7‘#6&56:720 L7,

jsV]

4., a, BWLZ9H kL, 9.
b. BWwWL< %&bk,

. %‘L“&"”L< % BATY D
. %‘L‘f'f[ﬁ N F L2

o

%)/)c‘:ig‘é”l&‘%) t;Eg\\/\i‘j—o
EHWiZ &é&mb\iTo

5. a. ANTLLL L, 10.
b. BNTIRED L,

jsV)

log
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Y5 LEATE D

— [EDSLENTID] TEDTDINTI D] BE—

HMZHA TS0, 2DHE T, 200E2 2T IEL W 2EA TR
LobA & zr x res EEES
S\,
Listen to the question, then select the appropriate answer: a or b.
IBFEWT O], RGN a Wi b IR IEIR B,
AETCHERAE, SRTETE a oE b IR RN B,

dEE € alll bV}, &S 9L 12X S

Hs
1. (a b)
2. (a b)
3. (a b)
4. (a b)
5. (a D)
6. (a b)
7. (a b)
8. (a b)
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BONEMEF > ToE T, HoTCES N,

BED U
What is the man saying? Fill in the blanks.
AR EIB AN T H 42 1 BEHESH,
#HEHP B AR EE FHE RS,
A Hetn 2atn AHun?

BI1) 22, aAEs P A (T npict

2 IA T

%l 2 2. L (L tALI)IL N F L7 L,

R

1. 13A L. T FE L7z,

2. 22, ZHFEL7A

3. 22, L7,
4. 2 2. zhFEL7,

5. 22, ThEL7,

6. 22, TWhA % FE LA
7. 22, EDID b, ThELL,
8. 2 2. zhE Lz,

9. b. &6&?%6&?Tho
10, 9 A. &< otz d
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FUWIIHIH(LHIZL T &0

— [~&S2LTEEW] [~TEEL -

[~L I LT3 &éofwi’mx [~ T2 & ] ké/)fwiﬁ“

e AN t%ﬁ;f» /bfw’éw FNh b, %@Hu@ﬁ;ﬁ%iw’ﬁf’éw

],

RN £ L
First, write the appropriate verb in the blank. Then circle [~ ( ZEw]or [~kJlcL TR
as appropriate.

ITFAERERT T~k LT3 v ERFERT T~ T & v ifdeksd, KRIG RN
a5 Hi K,

BB Tl RAMT T~ Lt LTS vy ST T~C R0, SRIE R
L UECE=40 E 8

f~doilTdreevy ga Fetn Uzt T~ T sy ga Fetn AUz WA ol %9
7te RE2A L. aelm 1 g BAS 2AQ

[. EBE&HEBHEDRFETT,

%}9< 728\,
b Hur(

oLy AU ey b

L TLIZEn,

B
723 v,

1.
LT3N,
123\,

2.
£l TCEE N,
23w,

3.
L TLZE
28,

4.

EOIEL T2,

=5 5IZDD(
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(723,
LolcLTZd v,

723V
EIILTLES N,

IT. KRIFEFE LBENLFETY,

DE A A AN e b

) CTT& Wy,
' oLt s n,
{7E 8,
2. )
LI L TLIT3 W,
CIT& W,
3. N
I LT IT& vy,
(7P &,
4, .
LI LTLKIEE W,
- CTT& W,
’ ES5 LT R,
C 773\,
6.

LTSN,
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SNLEVLLIICEWTHEEFT

—B80D [~&KDI2)

T=7 &MWL, arbhBLTLIZE N, ZDb ’C““?—7°%%ﬁb‘fﬁ€7b>&b
TLEE v,

Listen to the tape and circle the appropriate answer. Then listen again to check your answers.
IR, EEaad8iF b, REHTERE, BREEE
PBSTHETE, B N b, RERESESHINEERSERTIERE,

HolZ& £3, au bE TEAL. 1 ¥ gols o

Bl ]a. i(%@o(V\i?}

HOTHEFT,

o ]
1. a, hAlLwoLFELZ, 6. a, FELEEHITFEL L,
b, -<HLFL7%, b. ENLWTT,
Z.a.ﬂgftitto 7. a, oprnET,
b, 72Ww~NATT, b, 2—t—%#KAF7,
3.a.t<§AgNiTo 8.3.@0<O§§iti%
b.%iw%mugNi%Ao b. ﬁ%ﬁﬁtitto
4, a, L<{ b2 FHA, 9. a, t—F—%xFL 72
b. ?S%V‘%T‘?ﬁt’((ff?wo b. f@’)ﬁ‘“tfﬂi L7
5. a, ZFNFL7, 10, a, :}Jféux:i’c“éjgl,iti Do
b.#@kﬂ%ﬂfﬁ%iTo b.§%wlifﬁtiti%

I59






&’ BR(THAITATLE

BN - BHE RS [~T] oesid, OFHFnTimsn,

Fhva ) w9
Does the [ ~T] form express the reason or cause of the action ? If so, put O in the blank.
MGG T FoREE, BB T~ T SRAER O TR,
EriEh G T F2oREIN, Blhny T~ T RENEES O R,
A« o] f 2 VEHE 1~ <, 9 A SolE OFEZ 44 2.

piiyc

Bi21 (o)

R

. ¢ ) 1. ¢ )
2. () . ¢ )
3. C ) 12. ()
4. () 13. ()
5. () M4, ()
6. () 15 C )
7. C )

8. ()

9 ()
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FEHICE I LI T

— R —

anbPrEATILZIS N
25
Circle the appropriate answer: a or b.
HikHE a HE b,
FRIE 2 WO b,

< He 1EAL.

Pilla. mEAb
SEEE SIS 2 S

(b)) Frus

a.Bﬁé&ﬁ
. BB AN

: n@aﬁjﬁ }
.'?E%ﬁf

Wik g 5,

NAEE S

}swyggno

a, Jodps

HA B } :bf;of:o

L ek s

A Hn

b, F&bH

(%) #° \ 9. a. Skpty
SN LT TEN v L B E o
. U@—:ﬁs‘ %3 . :—%:»EE/T N [N
a, INHE A 10, a, FOFEAH
o };A%¢<éo s }Uc<0bto
L TFELH i
a, ) —ZAD 11, AP a—F—hty
b9, ‘ bty .
;5;'. HY T o (};EAL) Vi FOEYY
a, ft &2 12, (RL) A%y
T ) g, T I R S
. %jb\ Fd . j‘;(j)s’ LA diA 3
a, ARIAD 13. a. KIZ6a°
T }“{»i\ﬂfzo b }:Io’:of:o
B (B) #
14, a, D

pen }i%:kﬁo

. JotEA

HA LW

Qﬁ>ﬁ}e7/%
ot ->TwWah,
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HooEF - TWEEITFETH

—{E®RQ2)—-

FOABFLETD DAL ET D THHIZOEFENT IS,

v BAYW
Who performs the action, the man or the woman ? Put O in the blank to indicate the actor.
2 B IHUL R i & O Fow,
& CR R e 50 &k,
FA7E U7 A2 FUA? A BeE Bo] OXE 449

s O By s )
() X

BA%L BAY

S

—
i

—
~
(@]

3
—~
~—

o
s
It
e
o~

e
>~
~
&
>
~

A A naC )
a ) & )
3. % | ) 8. B ( )

.
N
~
~
>
-

B A 0. 2 ()
L‘/\,;; ( ) 3%1(;; ( )
5.8 () 0.8 ()

-
N
o
~

~
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hEbETHEHAFEAD

~LTNBB] [~EBTNDH] BE—

BoOA»L FTH, bggmﬁb%i'mn TéZﬂ:O%§wf< 72 &

BEZ v
Who performs the action, the man or the woman ? Put O in the blanks to indicate the actor.
£ BEOE R B R0 FR,
£ BEMGE R Ly HE 0 KR,
F27F FUA? A&7 GUYA? 53 Bete Be) ORE A 9.

b &
() ( O)
LTI E
1. ) ()
2. ( ) ( )
3. ( ) ( )
4, ( ) ( )
5. ) ( )
6. ( ) ( )
7. ( ) ( )
8. ) ( )
9. ) ( )
10. ( ) ( )
11. ( ) ( )
12, ( ) ( )
13, ( ) ( )
14, ( ) ( )
15. ( ) ( )
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NAZ bl TLISI-ATT

— [~TL&ES]-—

ZEEMCT, TH2k. FB LI e EH TS,

e b ES
Listen to the conversation. Write the appropriate verbs in the blanks, using the present or past tense,
as appropriate.
IEUTAIE, 5 X REME, CEDEHE THE,
ARG, BRI B S R ORI S,

dats B, e A Te @ AARNE 2L

a
Bl (2 LT) ”'i:‘“,

Bi2) (% 7 )

I. ( ) 7. ( )
2. ( ) 8. ( )
3. ( ) 9. ( )
4, ( ) 10, ( )
5. ( ) 11, ( )
6. ( ) 12. ( )
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What is the person thinking ? Circle the appropriate answer: a or b.

i3RI S TR A RO R RS . AR b o
S5 BEHRI) 0 A (R R o W b
SEA) B4 e a, b ol Bol AMay 7Y

BI1]@ e B 3|@. w7
b

EoY0)
b, L<{7Z%w SRS
Fl2]a. v Fl4)a. wmr
o
® £(xw ®. WLy
s ]
1. a, ¢ 6. a, 17-72
b. 4Th7%wn» b. 4T kh -7
2. a, 11 7. a, 177
b. 417w b. ATh 772
3. a, gn» 8. a. #4777
e x4 25
b. &<y b. SATL%
fas: 8 A 9
4. a, bb 9. a, %ﬁﬁf:“
EA 29
b. 7w b. SRITU=7ZW
EA 9
5. a. §& 10. a. E2HLTw3
b. FELxZwn b. XA Tz

LWWA LWL
— [~ »EL\]—

11.

12,

13.

14.

L EEWD
s

. HE=:en
b

. BN
b
=14

b

. w7z

rd

. BTy

nz

. 5

Ve

b OYIRY

. bbwn

=5 5(ZDD(
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16, a, b»rb 18. a., DwiTwj3 20, a, Bboiz

b. b blkn b. DWTWirn b. Bb-oTwirwn
17. a, ‘%ﬁHﬁ%At“ 19. a, fi->Thvn
b. j.éfmé%w&w b, H->TiIniT7ien
9 7z 2
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TCALR WA ER WET

— [~ BVWHERDS |-

BEZTWDBANIR, a, bELLDFH ZIZHWTTh, BATL I N,
7 [ Z 6

mADS 5
What the person thinking ? Circle the appropriate answer: a or b.
HIEPRE E AL A RE R . RS by
AR IE 0 B0 AR a W b
SHAY A7t a, b ol o ARG U A

Bil]a. < Bi2ja. i< BI3l@) i<
s s b e

R
1. a, k&5 6. a, %Ewn 11, a. #Ef7z
b, b 2w b. b BEFIL % %\
2. a, &3 7. a. 12. a. fifl7z
b. L Z%n b, RAL %0 b. FRIL %
3. a, &2 8. a.
b. 57w b, KAL %W
4. a, J&wn 9. a. K
b, # b hRAL 2L
5. a. &Ewn 10, a. fF)z
b. ECZw b. AL ¢ %W
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EREARELNELS-

—EREZE—

I. TMV\Jﬁ‘vaxinﬁ%Afé<ff§vm

Circle the appropriate answers: [(Z\v2] or [Vav2 2 ]
HEFE Tdey B\ Tvez g,
FORIER T3, B Tvhnz g,

fldv Y Tonz 8 1249

RS
1) ¥V —SARBEAELN G L, 4) 255 SAREREHLE L2,

Bl ]z s a, jxwn Vs g
a, |Iw Vava 2 b. (Fw Vi 2
b. v Vi 2 C. lFw VW g
c. Fw WV 2 d. 3w A2F4

2) %) *é/\,f)“‘%ﬁi’\“i L7279

a, 3w Vv 2
b. Ew Vv 2
c. 3w WV 2
d. lFw Vi g

3);L:§AM§ofw§iLt#o

a, [gw Vv 2
b, v Wiz
C. lTw Vi 2
d. gw Vi g

»55(CD5(
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[I. ELW IO, ELC AV LEDIRRXEFO TSN,

If correct, put O in the blank. If not correct, draw X.
BAIERAIH R O, $RATH TR X,

EFEMEI O, $famyBIX,

FE Aol O, 8 Adle xES A2,

Billa. (X) 1.a. ( ) 2. a ( )
b. (O) b. () b. ()
c. (X ) c. () c. ()



Y )—hUICTEIARAT

=ty

WG BA TS 0,
TEEs o2 ik
Listen to the tape. Select the appropriate picture.
i IR 2 B P ],
ERRET, RIREENEE,

HolZg E3 293 188 2 e,

—~
~—

~~ o~
~— e
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LHR—PaEL BITAERYEEA

— [~BINEBESBV] ~BEP] BE— 5

[. ZDFCHELTWETh, anbiBA TS,

What does the speaker say ? Circle the appropriate answer: a or b.
B PO R 2 B b,

HRERE TP a B R b,

o' ¥HZ st UAFHUA? adt bE LEA L.

Bl va—1% @) #oklFiug | %0 ¢4,
b. %ﬁ”:f< TlZ
=
1. a, R
S “ WiTEHA,
b b. A%< T
2. a, Bzl by
v h% bir 0 EHA,
bl R nE
3. a, K zxx
- T FEHA,
HEEFR b. *&cj—ﬂéi
4- a- ‘/)zj-i%/\/o
B H @27 < TR
Fuoilibidfh b. 7;'(- I/) i,&-&o
5. a., WrEeA,
Baar b b
Th b 2 b. 73‘ I’) i.ﬁ-A/o
6. a, i1t &%,
HELR-T v
Bleob b, 170 % < by,

=» 55 (D5 (
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7. a. J’%/\/&%@O

1K F TIc n

t b. J‘%/\/&( t) )<3o

5. ) a. WAL B

é,\HﬁLiTX ]‘7) NAE LG

SAEA b. ﬁaﬂgﬁi’@/\/ &%,

I L e abhnsgoTugdr, () RBidzdacrs

Vg

What must the speaker do? Write the appropriate verbs in the blank.
VBT 2 BIEEABR)IES T4,
45 Herh BB LR AR G SEE R BEINE,

2oL dlof Frkn B AGUA? () Fol FAS 2A Q.

Bl 2oftfiz (2914 ) b

S

L. S A ( ) BT D 2 A,
2. ¢ ( ) e TEwWiT EHA,

3. BgE ) f Xl ) £HA,

T 1 ) f xR,

5. Skl ( ) L E A ) FRA

6. HMEI ( ) < b

7. BEERL5 E ) e x i,

8. OB P ( ) fE
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SRALHMTREPBEORVATT

— [~BERRBSR] BE—

DN E LB UL % 6 %00 LT o Tk 0, BIRAORER & 3o <

BAY (4R LLrthn 8

723\,

What must the woman do ? Write the dictionary form of the verb in the blank.
A P B AR 2 1B HahA R,
SR 14 N ME SO R, SHE M ERAEE
oAt T Aot Yrkn Weha UFUA? FAbe)

s (THNYWE )

]
1. %‘f‘: ( )

2. ok ( )
3. ok | )
4, AT bR ( )
5. LiR—F%& ( )

GZM”:( )
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LR=MIELB(THVLVLTLE D

— [~BEFAEBSEL] T~BTHL -

BOAFLATHE L LGN 2IZBO BOADLZCTHnnZ LizidXx

B&Z v &

EENTLIZE3 N,

Listen to the tape. Put O in the blank if the man must perform the action, and X if he need not do

TSR, TEREE R B A LB TR0, AT R 7R X,
EBSRE A, A5 HRE Y 5 A A B RO For; A AT LLEY 8 X Fors,
HolZg E3 WAk slok sk ol O, WAt 8hA Yolk = Hole xEE AL,

7] L= b RS « O)

R
1. NAICHES, ( )
z.ti:%ﬁio ( )

3. fAEEE L IRD, | )

4. 100fT4 5 ( )
5. AT, ( )
6. TALAND, ( )
7. t“—/b%ﬁofﬁﬁ ( )

8.vﬁ—b%%ﬁo ( )
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KD [~726(12) ] 1FEKTT

FA VA

OF

H A58 &5

—REEBHD [~128 (I2)1—

HIZEFL

E@’gf‘ﬁ”ifc ) ﬁ;/))&:O%%WT CIZ& W,

What is the meaning of the [~ 72612 ] in the following sentences ? Listen to the tape and put O in

the appropriate column, “Cause” or “Purpose.”
Ny T~7202) ) RFREH, ERFRBEN, MO0 FT,
LITg T~ 7esn (1)) BB BIGE AR, H80 &k,

= %z OEF sl L.

Bl

R

& ~rlic), £ 99947, BAQU7? o

JEIA

FA VA

Cause

JER 2 5K

H iy

L<TE

Purpose

Hiy 54 Hay

Bl 1

O

B 2

O

10

11

12
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BloZLEDIZEE A DU TVEEA

~(1&) DTJ [~ DI

TTEHC TR b Ak b RAT S v, ZORTHLH T S0,

Listen to the tape and circle the appropriate answer: a or b. Then listen again to check your answers.

WUTRE, ®Fa 308 b, REREER.

AREERE Y, BIFa E b, REBBETIER,

HolZE Ex, avt b8 22X L. I % #olsr e,

Billa. fLwey,

720 2T TR A,

BL2]@ fLwTT.

b, FE7ZITFTWwIERA,

R
N HA,
b, ANZATTA,

L BENEEA,
b, ANBATT

3. a, A UEELEEE E T,

Z 7%

b, AL VEEMRER A
4. a, OPrnF L7,
b, DN FHATL,

j*—t‘—‘b‘g‘i Lf:o
b, AIEMEFL

Z9 b

10.

a.

b.

Lo X3 ) 2 KRETT
L& %1715/\/(“%) VT,

Lo NTLEVWE L 2,

if:"ﬁléiﬁ/\,o

a.gﬁ%t?4X3«ﬁ§iLto

L ABEI LTl LT,

&1 NAEL I

CBNTAEE LSO,

HCAFCATT I

(5% v

L T ERAERRDIRATLI,

T=213%HF Lk I,
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ﬁﬁ?’)“‘»is > =HLHRIETTH

— [~E5] [~THl—

FoTH M T b ad bARA T S, ZOBTHAD T LS 0,

Listen to the tape and circle the correct answer: a or b. Then listen again to check your answers.
ETRE, & lE b, RERAEEER,
AREEERTTY, B a o b, R AR TR,

HolZE 31, av bE BN L. 1 F 8¢

(BE@ =2
b, 0 FHA,
&)
1. a, %b\iTo 8. a, ‘Eiil;‘—fi@ﬁfb?ﬁ%’?&)éﬂ%ﬂ)f'é“
b. f%'bsi’rf&o b. ﬁﬁi@éiﬁ)%}ooﬁé’)%@(@“
2. a, %ﬁgiéo 9. a, ®o>TNBATT,
b. %ﬁfitfwo b, 72D ATT,

3. a, BTITEFEL ), m,a.Odﬁiikﬂofwiﬁo

(b3 v

b. if‘«"(ﬂ%ibi 9o b. ’P&)iok ofvxif

4., a, LELLWVWATY,
b, LEBATT,

5. a, FiLhr»bLNEEA,
b, FIZhbbhuwrd L nF¥Ai,

6. a, 2L FL72h,
b, wbTT i,

7. a  ATE A,
b. NrZoLFT,
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UL LTHITS

~ [~B5] [~E5 -

T—72MHNTh L anrbrBATEE VN, ZDORTHEDIDTLITE N,
& o)

H 2L

Listen to the tape and circle the appropriate anwer: a or b. Then listen again to check your answers.

BT R, i_hx_ aBiH b, RERELE,
ATRER T, R a uiE b, MRBBRAEGIERE,
HolZZ E3, av bE nEA L. 2 F Felsre.

F1]a. LT3k,

BLTHIF2 L,
-. (@) BL T N5,

,\Lf% F5,
B
1. a, ?ME%)J@%“C 6. a, ‘Ii‘fw ﬁ_ J o
b. Ja@}éﬁwmcl:c b. WEHIVWK L,
2. a, %)ﬁb%"( 7. a, wwﬁ’aif“tf:o
b. %@Eﬁ‘bw‘ £ b. b“«‘i’%%f WAL ET L,
3. a, %Mit&/m\o 8. a. Rl r/aAThoritidvn T L,
b. ﬁ}z’) Ll Ed kL, b. ?%ét@/pkof%((fjém
4, a, HbFULwTT, 9. a, L% %;ﬁNf:b
b. MEEAVHIEL LT L b. THZJED( b E,

5. a, DIHEDIXELIZIHA VAT, 10, a, «E iﬁki T3 ) AT,

b. T CrEw, b. ij_!;?A%?E&’C%“Hﬂ&
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HPIABPANEATT &

— [ A=

C )z M) » a7 %%vx“c<f:“éwo

Fill in the blanks with [{Z] or [#%].
WS BEA T3 88 "o,
AR T B T
()5 "3, v Tasy 8 240

A Zoa—t— BulwTii, EAHANZATT D,
Bz, WA (AN ) ANZATT &,

72 e

A hh, HPSARZ, /

1z

BimpsA (1d ) v, a—e—#AnTzd L,

o
1. AL ZOR HolkATTH,
Blwvnz, Loz T, HPSA ) HozATY &
1 7z gty ”
2. AHHEA ( ) EITIDRESLZATT P,
B:HBSA ( ) COLBREOAR TR 29 T &

3. Al %61M%¥Tﬁdg;tﬁ§A,( ) BZFWTT .

L 3A R )

Bih, AHSA ) LLBINEZ ) TT L.

4. A AATETH, 121 ( )iﬁ%fwi&A#o
B:%@\Tﬁ§ﬁ( >iﬁ$fw&wAT¢HEo

5. A:bn, EHL5EFTL LD
B:%\ﬁ’( )$§té§LiTo
5522 D(
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6. Aldn, HEZA ( ) wh o LenETh,

Lebrd

i%\ﬁ[( )%H%@KHT?ﬁO@#O

Lebid R S

w

7. ATHEZA ( ) WHE 5 LenFE g,

Lebyd
BIER () wIamm o,

8. A . biL-. Elflfl:?/b ( ) WEHAA, ﬁS;"T‘Li 5 4.
Bz, WS4 ( ) BDIROBEBSLATT &,

JARR 30 iita

9. A 25, 7”1 ( )@m@m%botATT#o
B:mﬁéA( ) Bo2ATYT &,
m.A:ni\hi\:mgénwmoﬁn< )?Ofit@o/

BrHmsA ( ) o TETCARATT &,

u,A:%Ltww—%4~tg$§AHM#%oTW<o/

iz
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Bz BAK v LobA &
Listen to the question. Who was made to perform the action, the man or the woman ?
P NERL A WEhE)E, EEEEE.
RFH BRI miEsEhEE, BEER,
AU, ALY AR E ED mEA L

Bl <3§,%-<ﬁ¢o Bi2] (B oA -ma,

S
1. (BOAN- LDON) TY,

BEZ v BAY [4X4

2. (BoON- LDOAN) TY,

BEZ v BAY wE

3. (BoAN- LN TF,

BEZ [2R4 BAY v&

1. (BON- BOA) TF,

BAL

5.(%®A-t®ﬁ)?fo

BEZ BAL

6. (BOAN- LDOAN) TT,

HEZ & BA% v

7. (_'J @Z{E : ‘Z:(f@&> <7,

BEZ

8.(%@A'ﬁ®&)TTO

el v BA%

9.(%@A-ﬁm§)?¢o

B&Z v BAL

1&Q$mﬁ-ﬁmﬁ)fﬁo

&z BAY
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Who performs the action? Circle the appropriate answer.
i L Mg 1RO Rk,
HEEfCr S5 80 &R,

T #YA? ORE A 2.

%1 1 %
'S BEL 5,

3B
o
3

RANIZAT 'S DT,

5
HEZ Bz
T, D,
LAY b BA % »Z

%A 5

ez BA% L&z LAY

e ) Ko
YO LB b
BA% ” AL Th b

A PEFET 5o DIMENZAT <,
LAY TA ZA LAY FAAN 1 v
5 %L
el LA% LEl LAY

w5 52D (
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28 HE1~8 66 | FO28 | & A v R B 1, 51 2
29 [BEASRR|Z A bV - R - BT, B 2 67 BE 1~ 12

30 #HE1~10 68 | F63M | F A bt - HER3C - BT, 61 2
31 | 5463 |71 bL - fER3 - fi) 1, 451 2 69 E1~12

32 #HE1~10 70 |64 |2 A by - fRaR3C -

33 | AT Z A bov - FRR3C - B 71 HE 1~ 12

34 #E1~7 72 |BEOSER | & A R - FRORSC - 0, 1 2
35 | 48R | F A RV - FRARIC - B 73 E1~15

36 #HE1~10 74 | 5665 | Z A by - FRIRSC -

37 |49 [ F A Fv - FRR3C - B 75 HE1~7

38 wE1~7




DISC3

Tr| # N Tr| # e

01 |ZB6TaR | Z# 1 v - f8-3C - Bl 1, 15 2 40 | 855 [ Z A ML - H5RSC - 1, ] 2
02 MEI1~10 41 ME1~12

03 | 5E68FH | & A bav - foom3C - il 1, 61 2 42 |86 |F A b - RS- BT ~fil 6
04 HE1~15 43 1~ 20

05 |BE69RR | & A bV - ¥ - #1, 612 44 | 8T F A bV - FRARSC - Bl 1~ 3
06 #iE 1~ 10 45 ME 1 ~12

07 | 7058 | & A by« FER3C - 46 |88 | & 1 b

08 #E1~10 47 I 7R3 - H

09 | BB7IRR | Z A by - F8R3C - 611, 451 2 48 I . #H 1-a~4d

10 E 1~ 10 49 T . R - B

11 | FB728 | # A hv « $57R3C - #11, #5112 50 0.3 1-a ~ 3-c

12 e 1~ 14 51 | 5E89Fk [F# A Fv - 7R3 - H

13 [ZE73#8 | # A v - ForsC - B 1, ) 2 52 HHE1~8

14 ME1~10 53 590 | # A hav

15 | B4R | % A4 by - F5R3C - 43 54 I 533 - f

16 e 1~ 10 55 [ .#¥E1~8

17 | 7538 | & 4 by - FER3C - 45 56 O . f8R3C - fi

18 ME1~10 57 O.#E1~8

19 | 87638 [# 4 b - F5R-3C - 4 58 | B9 | # A v - FER3C - Bl

20 #E 1 ~10 59 e 1 ~8

210 | BT | &2 A by - FERIC - ) 60 | 2| F A ~v - FER3C - H

22 HE1~8 61 #HE1~8

23 |BE78F | Z A bL - RS- B, ) 2 62 | I3 [Z A ~ov - FEmEsC - B, B2
24 M1 ~10 63 M1~ 12

25 [BET9RR | Z A v - FeR 64 |FH478 | # A by - 5T - B, 51 2
26 I ERBHSC - B, 412 65 HE 1 ~10

27 I . #E1~6 66 [HEISHR|Z A b - FERIC - B

28 11 . fR A3 67 #E1~10

29 I.#E1~6 68 |HEI6FR|[Z A bv - FRoR3C - B 1, 4 2
30 | 80 | # A hv « F5/R3C - 69 #HE 1~ 10

31 #E 1 ~10 70 [BEQTRR & A bV - 65/R3C - 1 1, 1 2
32 | BE8IRR [ Z A hv - FEAR3C - 1, 81 2 71 HE 1 ~13

33 #E 1~ 15 72 | ISR 7 A v - FEARSC - BT, 1 2
34 | 5825 | # A Fv - BRI - B, B2 73 #ME1~10

35 #E 1~ 15 74 |BE99RR | & 1 hv « F5oR3T - 5] 1, 5] 2
36 | HB83FR | # A R~y - FEARST - 11, B 2 75 ME 1~ 10

37 HE1~10

38 |F84RR | & A hV - FER - 4

39 HE 1 ~15










